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Define and explain responsibility accor.mtiog. W.!ut are pre

requisites for introducing responsibility accotmting in a

company ? U (

Write notei on arly three of the following : 9

(, Transfer Pricing;

(ii) Zerc Base Budgeting;

07l) Profit Centre and Cost Centrc;

(iv) Non-cost Factors for taking Make or Buy

Decisions.
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Urite your Roll No. on the lop immedialely on receipl of lhis question paryr.)

Note i Answers may be *,ritten eilher in English or in ilindi:

but the same medium should be used throughout the

paPer.
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Anempt a// questions.,4,// questions carry equal marks.

Use of simple calculator is allowed Worki{s form part

of your answer.
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l. (a) (0 What is meant by management accounting ?

Discuss its objectives.

- (D Explain the distinction between cost control and

cost reduction. 6
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(r) Attempt the following (worting notes should form part

of the answer) :

(r) Total fixed cost { 12,000; Contribution I 20,000;

Number of units sold 10,000; Variable cost is 60%

of sales. Determine selling price per unit and also (

the total profits/loss.

(O Total fixed cost t 12,000. Actual sales ( 48,000;

Margin of safety I 8,000. Determine P/V ratio.

'(iir) A company which has a margin of safety of

? 4 lakhs makes a profit of ( 80,000. lts fixed cost

is t 5 lakhs. Find the break-even sales

volume, 9

(sr) (, miqt A€it-t t Hr orFrcrq t ? Es+ Bkql

61 fq*fir s1frql

(i) ?IFrd frdTq *{ oFrd q c"fr * qq
sifr{ e-dr{Al (

(q) i{qff,kd d En uifqs lord ltg wr ol
frwr t) :

(,) Eo ftrI{ €FkI I l2,ooo; eiVrqR r zo,ooo;

+* rr€ {*,r{d 61 {qr lo,ooo; cfrq+frq
qm frsl $t 60% tr yfr V'+'r$ f{rq {w
dq Eo Erqr6rfr {,1 f1qftq 61frq1

m12

(O E{ TSi + dqt frr (: mto frl) rrd{t 6r

tlrdn fqrcr qrfl tr

A srq t{d t yidcrE r 2,000 i6r ts{s ynfud

tr

(8) gs' T6+ * sE tq Ef, ffi c{ @ 5% s-+{r{

qq qd d vnke rd tr
(e) q{ffi r 60,000 d Erfl-6 'ri t srh trrdn fudq{

ri f6q1 qr+ 6,

(r0) { 10,250 + fri{r q{ flrqiyr rsq{ d yrq Aqr I

(lr) o.qfi * crq t l,0o,ooo d lo% fs+rfi S1 qs
tqfun q{, Er, fvffi{ *r kqq{ d iq tr

(r2) ft6-S q€  i T+.6 s1 o'fr + qrrd d, o-q-fi

sq rdi + ff,S +r t q6 3t{cgrw o1 qq{qr

"61 {ltFifl E i,IR Yq ir€ i6 sflirt-EllE i6t sR

+ c-6i + srf\frq r-re t t$d-{r sd A

v* 3or+ snr qftqr sf{cqw qr qrq sJ

errter ritqqr
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firefrfua q-d{r * qtm q{ 3l f<sq(, 2ol8 *1

qqrq rli srA qR rr&rj + toq W +{r (t-s5)

qqz tqn +1Bq :

0) enq eilq <n * sei-gq5q I

ef,el q{

{

,IN

e\ r f$(q( ftl t-6-9 (*n) iq r rz,ooo

(3) q€ BS< t f6 ffi t6'I 50% r-*-<' d d'n

dt< zsoz" qrr< stm 61 qlrrt r (

(4) s$ T6i qK 3tm ffi o't 7570 rrEe gq,

strR ffi qr i q-6i .{K 20% qEr E3r ffiI

tq wtq 16I (q{ ?rql) I

(5) Btm stq t.r 70% q.6 {Si * q< STrdF

fsqr qrdl t 3ik tc 30'lo 5l gktFl d {6i
:il Er{rE t6. eE r.6qr qrdT E l

(,, tG irq-o errm I \2,o0o, qRr{6 ffi
( 48,000, g{qr sqr ( s,ooo I P/v s(ItIkI

f{qiR-d 6Tqqr

(ii, q+ t6.q{r fds.6l gGir riFn t I ere t
r ro,ooo t[] mq +qrfi tt {v+1 ftqt enr<

r 5 ?Ir€I tr dgo-t-m ffi qm an
qlfqq r

or(s[Er)

(a) What is m€nt by margin of safety and angle of

incidence ? Show these on a break-even chart. 6

(r) Th€re are two factori€s under the ssme management.

It is desired to merge these two factories. The following

information is available :

Frctory A FrctorY B

Capacity opcration lWo @/o

Sales t 300 lskhs t 120 lakhs

Variable Cost I 220 lakhs ( 90 lakhs

Fixed Cosr ( 40 lalfis ? 20 lakhs

Calculate :

(, The capacity of the mcrged plant for the purposc

of breaking-evan and

(rI) The profit on working a! .75o/o of the mcrgcd

capacity. 9
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grm $cr iIlII qFnrt fr1q t GHr qfiTcrq t ?

rd {qul-m erJ vt syrtqqr

lFF d siqn + q+r a qrreri tr rl tql
srrgrd fl trsq 6'{-{r sifoil tr ffifu"
sn-+r0 gqvcr t :

i5r({Im A iSRqm B

erril riqr6{ two ffi/o

ffi I 3oo Ett€l { t2o Erretr

qfis{-frq gpp6 I 220 flrcr I eo Etr€r

ftrn orrrc r 40 ttt€t ( 20 tttrcI
qurr q1frq :

(, {gm-<< + B{rq * frq f{6q H rn
{ziz - o1-. qrEI r

to froq ql qrtn i zsozo qt ilq 6'd q{ grqr

Comparcd with absorption costing, when will variable

costing report lowcr profits, higher pmfits and equal

profib. Explain with cxamplcs. 5

The following are the estimated sales of X Company

for eight months ending 30-10-201t , (

April 2018 12,000 units

May 20lE 13,000 units

Junc 2018 :- 9,000 units

,uly 20lE t,0fi) units

Augusl 2olt |O,0OO units

S€pt€mbcr 20lE 12,000 units

October 20lt 14,000 uni6

Novcmbcr 20lt 12,000 rmis

(

( l7 ) 'nt2

(5) 1V/o of the credit purchas€s is paid after on€ month

and rcrnaining 307o is paid after two rnonths of purohase.

(O Wages are paid on 3rd day of every month.

A Other cxpenses include a depreciation of I 2,000 p.m.

(E) Conrmission @ 5o/o on the total sales payable after one

morth is not includcd in the oth€r expenscs.

(9) Machinery is purchasod @ ( 60,000 and payment is

to be made in Septernber.

(10) A dividad on irvestrrient oft 10,250 !o'b€ rec.ived

in Novernbcr.

0D Thc company hrs l@/o Dcbentures of t l,(m,000. The

inGrest is payable quartcrly in March, June, Septernbcr

and Deccmbcr.

(t2) In case of deficit in crsh in uy month, the company

csn snange air overdraft from the bank for that month

and such ovcrdraft is to bc r€psid as early as possible

out of thc surplus cash of thc subsequent month. Ignor€

the intcrcst on the overdraft. 15
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Prepare a cesh budget for foui months cnding on 3lst

Decernber, 20lE on thc basis of the following information :

(l) Incom€ and expenditurc for€casts :

Months Otber Exp€trscs

July 9,0m

August &E5o

E,000

October 7,E50

Novernber 7Jm

D€c€mber 7,050

@ Cssh balance on lst September t 47'0fi).

It is exp€cted that 50olo of the sales wilt be in cash

and 25o/o of the purchases will b€ made on credit'

(4) 75o/o of the ffedit ssles is realized onc mo h after thc

sales, 2flo of the credit sales is realized two months

after the sales and the balanoe is bad debt

nn

5.
As a matter of policy, the company rnaintaim the closing

balance of finished goods and raw materials as

follows :

(, Finished goods----closing stock of a month will bc

50% of the estimated sales for th€ next months.

(r0 Raw maGrial---.closing stock of a month will be

equal to estimated consumption for the next month.

Esch unit of production consuncs 2 kg of raw material

costing ( 6 per kg. Prepare the following budgets for

the half year ending 30-09'2018 :

(r) Production budget (month-wise in units).

(ir) Raw material purchase budget (month-wise in mits

and cost). l0

erq{ilqur ffT( + qtq g(fl d, t-e qftTffrq

EtFtiT t6'q tllg, BEt EIq sttr qqrJI 6q fr
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3oro-2olE d qqrqr ti srA qra Etd + f6S
x o'qfr sl srdqrfrfl ftm1 ffifur t .

erio zorr l2,ooo {i6r{zil
q{ zorr ' l3,ooo {*l$d
{{ 2olr 9,ooo Efir{qt

Wti zors r.ooo l6l{d
sFt€ 2olE 10,000 {i6.r{qt

frtrrtrR 2or8 l2,ooo stl[ql
srF[iR 2orr l4,0oo !u6l{ql
rFrBr( 201t l2,0oo {tf,,I$d

{

(q)

(s)

(

(3)

Weges

{

Sales

t

Purchases

(

/(),000

60,000

50,00

@,m

70,000

E0,000

10J00

lrum

l7,tm

laom

lzom

8,00060,000

90,0@

75,00

90.m

1,05,m0

r20,m0
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(sI) fitgiqi d yniFro EFra ort{ oilmiFm Errd t
srFrrrr iFrr emrq t ? T<r6{q dfqsl

(q) x ft. rtrcrjfl I q yfr sfid *1 er.rc vr g*'
sfl< 61 ro,ooo r*rtd d{rfr t g*{ utq <rwr

i r +.zscfd E+,r$ * ffi qe qr ffi tr
srrd qd d, +q qr-qn d qiq q f'REz t
i ro,ooo Fcrr{d 4i *+e r r.zz cfr {+'ri B1

etra q< q-q{ift( +r v+-fi tr ro,ooo For{qJ

of Ao erkr w r+n t :

vrrlln ( l5,ooo

t-q-k,t ( I l,ooo

ftq{ Bcfuqc { s,ooo

qkqififrq sqfud{q { 6.000

rsffi srqR $t ci vqrql 'rqr 3rT{ z16 crql
rrq t+ qt qrqn yfr tqr{ r :.ss 61 otrc
Irt scrE 11 zo,ooo forfql 6'1 3q$q 6"( vfi-dr

tr <qn dfqS fm o''qfi * crq erfrft-n Eflrfi
eti + ff,s qqt il {,ia sTqil tl I z16 S ydr

qm t fu ro,ooo t6Frrd * W.nfr :nregz *
sK srfrktr ersegz * idS fis{ vqfr6{q 16"/"

ii-tr tI6 EFrrl r ryf f*<Vfr qqR q{ i56tT 6'(fl
qr*ot?+,rsolfrqr

( ls )

+fr + qrrd * sc d 6rq-fi tfi.qrd s+R

m-d qro * qqrc-{ riqel si rq y-+,F q{ra

rqfrt:
(, tqn qro-w qfii qT rEffqr 3rrd q-d-fr

+ foq wgqfid ffi t'r soz tnr
(r,) s-€sr qrm-qfi c-&i 6.I rEfdqr sTrrd q-At

* tf,q q-dqfi( qqc * cner tnr

wr<c sl ldq, T-+l$ I z ffiirq o-d qrs

o1 sq-c dfr t ffi ErFrir ? 6 sfr ffiqrq

tr goog-zors +i sqrq di crd eqrE sd +

16q firafofua c-w +.rR qlfqq :

(, sflr*t qqa (5'dEr5d t q&+ * 3agspl

(rD tF-q1 qm st< q-sre tE(6lfq1 dt erq-c

d q&{r * eqen; r

or(3rqsl)

la) "Fl€xible budgets are morc realistic and useful than fixed

budgets." Do you agre€ ? Explain. 5
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(q) o-A cr€ si gq o,rc+, * 6c d qrti Es,

ffi greardr lo,ooo furn t sft s-+s sflE
61 qfimdc ffi ercf,r :,sooq+T{ t, sq 3elq

frarq q] 6 +1tuq n 3{FFdq 6q Yrq 5}rnr

or(s[T{t)

(a) What do you mean by relevant costs and irrel€vant

cost in dccision-making ? Give examples. 5

(r) X Ltd. annually manufactures 10,000 units of a product

at e cost of I 4 per unit and sells thes€ in ihe home

market at a selling price of { 4.25 per unit. ln the next

year, there is fall in demand in hom€ market which can

absorb 10,000 units only at price of ? 3.72 per unit'

The 
-total 

cost of 10,000 units is as follows :

Materials ( 15,000

Wages t I 1,000

Fixed overhead t 8'000

Variable overhead { 6,000

The foreign market is explored and it is found that this

market can c-onsume 20,000 units of the product at a

price of I 3.55 per unit. (Assume that the company

has sufficient plant capacity to produce additional

output). lt is also discovered that fixed overheads will

increase by l07o for additional output sbov€ initial

output of IO,O0O units. [s it worthwhile to try to capture

the foreign rnarket ? Give rcasons. l0

(r)

( 3r)

A co. can produce 4,000 units of a product at l00oZ

copacity. The following information is avaitabl€ from its

records :

' April fvky

Unis produced 2,E00 3,6m

(l

Pouier l,8m a000

Repairs and maintenance 500 ffi

Indirect labour 700 m

Consumable stores 1,400 I'800

Insp€ctor m W

Depreciation 1,400 1,400

Salaries 1,000 l,om

Direct material cost per unit is ( I and direct wages

per hour is I 4. Ratc of production per hour is l0 units.

Prepare the flexible budget for production at l00P/o, E0o/o

and 60% capacity levels showing variable; fixed and

semi-variable iterns. l0

rr1nfifr esre f1rffi6 qqe t qRffi qql*drfr

o+{ sr+{fr dt tr" rFtt qlq rtErtd t ? qqt
qltqsr
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5

(r3) mtz

frefrke frfiu1 6qi e,,Er{ + fiHild t firoKn

.r{t:
kqrul :filrE B

fir*1 (yfr E6ri)

qrqfiq,teqftr

qrqfiolar.ro

ysqrv-{frmrf,

vflqlqq

ERcldH rrlqYP q2

sqft-qq:

fu{
qnqffif,

qsqr r-q{fr < r s cfr ria tr
(sr) y-+s reqn q1 ctlrr<ar q{ ffi +fqs qs

(qld q+' d q-;q rrTer tnr grqirr s-{A

t),
(, Eq-rsd d 6a ffi erqdr +fud tr
(,, {e i W fc-61 qqor dfrc tr
(m) +-qr rno 6q ffi t t, nw

(,v) .tdlrtrI qTTdr (qvfrr + * {<{ d) dfrR
q,rcq' tr

(s) qa. 6'q-* looozo qFkil qt !F sil< 11 q,ooo

rorrd ql srcr ifi-{ votfr *r ve+ ns,fdt f{q qln-s-ro srsq t
sTia T$

rqrql qr sflfi F*-qr zw 3,ooo

lt
YIfft l,Eoo em
qtqo g*r {€t-TGnEI 5m ffi
s$rf,Iql 

'rq m0 s0
gcq)rq ,igR t,4oo t,Eoo

i+s.{ m zfi
TFItrs t,,{oo l,4oo

+dr r,m r,ooo

yfd E*l{ yser qrqfr Em-lir r I t eqh yft
*izr ysq rv-qfr r a tr yfr ria e-flEr s1
<( I o !-fiI{ t r r oox, 80vo a4t 600/o qrq-rfl tR
Yt sdntrr + tdS vstdr qqe cH+c, ftsfi
ss eftf-cffi+q rd d M Es tqR 61Fqsr

(a) Briefly describe the following Control Ratios :

(,) Adivity Ratio

(rr) Capacity Rstio

(ii, Efficicncy Rstio

(w) Calendar Ratio.

I120

:t*ql
?t5

t l0

{6

z rit

( l0

120

3.

SITE A

( 100

zfqqt

a l0

lls

?s

r{)
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From the following information about sales,

calculate : l0

(, Total Sales Value Variance

(Jr) Sales Price Variance

(tu) Sales Volume Variance

1lr; Sates Mix Variance

(v) Sales Quantity Va ance

Strndrrd Acturl

Utrits Rrte Units Rrle

t{

Product A 5000 5 6000. 6

Product B /lom 6 500 5

Product C 3000 7 M 8

Frqfufuo f{4aur erdqrd t'r {&c d qfi
+1ftq :

(, qfrfrlq ergqn

(,, srrdl slfqkl

(riD <q-dr 3r{crd

(ry) ++5{ qjcrdr

P.TO.

(e)
4. The following particulars are extracted from the records of a

company :

Prrticuhr! Product B

Sales (per unit)

Consumption of material

Material Cost

Direct wage cost

Direct exp€ns€s

Machine hous used

( 120

3kg

lt5
? l0
(6

2 Hours

(r)

( €r)

Overhead expenses :

Fix€d I 10

Variable {20

Pr0dmt A

( 100

2kg
( l0

tls
?5

3 Hours

( (

Direct \rage rate per hour is { 5.

(a) Comment on the profitability of each Foduct (Both use

the same raw material) when :

(, Total sales potential in units is limited

(ir) Total sales potential in value is limited

(rrr) Raw material is in short supply; and

(rv) Production capacity (in terms of machine hours)

is the limiting factor.

(r) Assuming raw material as the key-factor, availability of
which is 10,000 kg and maximum sales potential of each

product being 3,500 units, find the product mix which

will yield the maximum profit. 15

(

i
I

l5
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(s) ffi + qt d f{q qrl-srt t {unr Fitqq
(, 6u ffi {e fTn-dr

(O ffi *tq-d fiffifl
1,,4 ffi qftqrq flffidr
6,y ffi frqor lwdr
1,; ffi qrx fir<m

qr;r6 qrftIk{

f,{r{d Er F6,lE"l E{
tt

scIK A 5m0 5 6000 6

scIK B ,1000 6 5000 5

irctK c 3000 7 M 8

or(oIE-O

(a) What is standard costing ? Distinguish between standard

. costing and budgetary control. 5

(r) Standard hours for producing two products A and B

are 15 hours and 20 hours per unit respectively. Both

products require identical type of labout and the

standard wage rate is { 5 per hour. ln a year 10,000

units of A and 15,000 units of B were produced. The

total labour hours actually worked were 4,50,500 and

actual wage bill came !o { 23,00,000. This included 12,000

hours paid for at { 7 per hour and 9.400 hours paid

for @ I 7.50 per hour, the balance having been paid

at { 5 per houl. Compute Labour Cost Variance, Labour

Rate Variance and Labour Efliciency Variance. 5

(c) From the following information, corpute Fixed Overhead

Cost vaxiance, Expenditure Variance and VolunE variance.

Normal capacity is 5O0O hours, Budgeted fixed overhead

rate is { l0 per standard hour. Aotual level of capacity

utitized is 4,400 standard hours. Actual fixed overheads

( 52,000. Also, verifi your result. 5

(er) qmfi rtrrm :FrI ! I q5a+, ffrK ffir qs&c

frEaq d eiil{ {dr{q r

(s) A Efld e stt s * s-flfi * fuq qrq-s ri)
i6rm. ls q? sit< zo =it rfd ffiri tr fit s-fls]
*1 qqr y-fiR * rrq o1 enerq-*-dr +fi t
etn qn-+ Tq-{t E{ r 5 vft {a tr q+. q{
t a q1 ro,ooo 

's*< e s1 r5,oo0 E+r{qJ iFI vflr(;I
f+-q rrqr srws i[ qrq o-ri qrd E-e ryc
.E +,so,soo t g+{ qrRfufi q-sd tq-( { 23,00,000

qrqr qil qs{ r z sfr ti} + tgqrs t rz,ooo

. {} or Srrdn 3tt e,4oo ri) tF1 grklr;l { 7.50

vfr :i? aqr tv *t g{-dn ( s Yfr Fj} + f6srs

t t+-q.rrq tnr ryq crrm firq-et, rrq (i fir+dr
iTs[ ,tq qTq-dr flr{fl + rfrrroT-{r sifqql

(s) fTqfuk( qn-$rft t qqFtqfi sqfr-dFrd fir:rdr,
eqlfeq fiffifl ffir qftqM flr{-dr +1 wm dfqqt
qrqr;zl qffill 5,000 Ere E, qqe ercrf.rdr gqRdlrrd

E{ ( r0 xfr q65 tE tr gq+r q1 qi eKfr qrq-dr

s,r qrKtffi Er{ 4,400 qn-+ .it t r qnwi+o

sTqfilqfi Bqkqq r s2,ooo tr wr qf{orq $
(flrft-d qfqqr

(il)

(
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